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問　1
1）

2）

3)

4)

5)

6)

𝟔𝒙𝟐 − 𝒙𝒚 − 𝟐𝒚𝟐

= (𝟐𝒙 + 𝒚)(𝟑𝒙 − 𝟐𝒚)

ഥ𝑨 = 𝟏 , 𝟒 , 𝟓 , 𝟕 , 𝟖

𝑨 ∩ 𝑩 = 𝟏 , 𝟓

𝒄𝒐𝒔𝟓𝟎° + 𝒄𝒐𝒔𝟏𝟑𝟎°
= 𝒄𝒐𝒔 𝟗𝟎° − 𝟒𝟎° + 𝒄𝒐𝒔(𝟗𝟎° + 𝟒𝟎°)
= 𝒔𝒊𝒏𝟒𝟎° − 𝒔𝒊𝒏𝟒𝟎° = 𝟎

100円玉のみ 100×2 1通り

50円玉のみ 50×4 1通り

10円玉のみ 10×20 1通り

100円玉と50円玉

100×1＋50×2 1通り

100円玉と10円玉

100×1＋10×10 1通り

50円玉と10円玉

50×1＋10×15

50×2＋10×10

50×3＋10×5 3通り

すべて

100×1＋50×1＋10×5 1通り

∴ 9通り

−𝟐𝒂 + 𝟑 + 𝒂 − 𝟏 = −𝒂 + 𝟐

∴ 𝟐 − 𝟐

𝒂



問　2
1）

2）

問　3
1）

2)

𝟒𝟎 − 𝒙 𝟒𝟎 + 𝒙 ≧ 𝟏𝟓𝟗𝟏

𝟏𝟔𝟎𝟎 − 𝒙𝟐 ≧ 𝟏𝟓𝟗𝟏

−𝒙𝟐 + 𝟗 ≧ 𝟎

𝒙𝟐+𝟗 ≧ 𝟎
𝒙 + 𝟑 𝒙 − 𝟑 ≦ 𝟎
∴ −𝟑 ≦ 𝒙 ≦ 𝟑

𝒙𝟐 − 𝟖𝟎𝒙 + 𝟏𝟓𝟗𝟏 ≦ 𝟎

𝒙 = 𝟒𝟎 ± 𝟒𝟎𝟐 − 𝟏𝟓𝟗𝟏 = 𝟒𝟎 ± 𝟗
= 𝟒𝟑 , 𝟑𝟕
= 𝟑𝟕 ≦ 𝒙 ≦ 𝟒𝟑

𝒔𝒊𝒏𝟐𝑩 = 𝟏 − 𝒄𝒐𝒔𝟐𝑩

𝒔𝒊𝒏𝟐𝑩 = 𝟏 −
𝟐𝟓

𝟒𝟗

=
𝟐𝟓

𝟒𝟗

= 𝒔𝒊𝒏𝑩 =
𝟐 𝟔

𝟕

三角形なので𝒔𝒊𝒏𝑩 > 𝟎
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𝑐𝑜𝑠𝐵 =
5

7

𝑺 =
𝟏

𝟐
× 𝟕 × 𝟑 𝟐 × 𝒔𝒊𝒏𝑩

=
𝟏

𝟐
× 𝟕 × 𝟑 𝟐 ×

𝟐

𝟕
𝟔

= 𝟔 𝟑




